

**A SIMPLE AND ACCURATE METHOD FOR
DETERMINATION OF SOME GENERALIZED
SEQUENCE OF NUMBERS**

Ali Boussayoud¹, Mohamed Kerada^{2§}, Meriama Boulyer³

^{1,2,3}Laboratory LMAM

Department of Mathematics

University of Jijel

BP 98 Ouled Aissa, Jijel 18000, ALGERIA

Abstract: In this paper we show how the action of the symmetrizing endomorphism operator $\delta_{e_1 e_2}^{-k}$ to the series $\sum_{j=0}^{\infty} a_j e_1^j z^j$ allows us to obtain an alternative approach for the determination of some generalized sequence of numbers.

AMS Subject Classification: 05E05, 11B39

Key Words: Lucas numbers, sequence of numbers, symmetrizing endomorphism

1. Introduction and the Main Result

The second-order linear recurrence sequence $(U_n(a, b; p, q))_{n \geq 0}$, or briefly $(U_n)_{n \geq 0}$, is defined by

$$U_{n+2} = aU_{n+1} + bU_n,$$

where $U_0 = \alpha$, $U_1 = \beta$ and $n > 0$. This sequence was introduced in 1965 by Horadam [6, 7] which generalizes many sequences (see [8]). Some examples of such sequences are Lucas number sequences $(L_n)_{n \geq 0}$ for parameters $a = b = \beta = 1$, $\alpha = 2$; Pell number sequences $(P_n)_{n \geq 0}$ and Pell-Lucas number sequences

Received: February 27, 2016

Published: July 18, 2016

© 2016 Academic Publications, Ltd.

url: www.acadpubl.eu

[§]Correspondence author

$(Q_n)_{n \geq 0}$ for parameters $a = 2, b = \beta = 1, \alpha = 0$ and $a = \alpha = \beta = 2, b = 1$, respectively. In this paper, we show that the use of the action of the symmetric endomorphism operator $\delta_{e_1 e_2}^{-k}$ [3] to the series $\sum_{j=0}^{\infty} a_j e_1^j z^j$, gives an alternative approach for determining the generating functions of some sequences of numbers preceded cited.

Definition 1. [1] Let A and B be any two alphabets. Then we define $S_j(A - B)$ by the following form:

$$\frac{\prod_{b \in B}(1 - zb)}{\prod_{a \in A}(1 - za)} = \sum_{j=0}^{\infty} S_j(A - B)z^j, \tag{1.1}$$

with the condition $S_j(A - B) = 0$ for $j < 0$ (see [1]).

Corollary 2. [3] By taking $A = 0$ in (1.1), we obtain

$$\prod_{b \in B}(1 - zb) = \sum_{j=0}^{\infty} S_j(-B)z^j. \tag{1.2}$$

Definition 3. [11] Given a function g on \mathbb{R}^n , the divided difference operator is defined as follows:

$$\partial_{x_i x_{i+1}}(g) = \frac{g(x_1, \dots, x_i, x_{i+1}, \dots, x_n) - g(x_1, \dots, x_{i-1}, x_{i+1}, x_i, x_{i+2}, \dots, x_n)}{x_i - x_{i+1}}.$$

Definition 4. [2] Given an alphabet $E = \{e_1, e_2\}$, the symmetrizing operator $\delta_{e_1 e_2}^k$ is defined by

$$\delta_{e_1 e_2}^k(e_1^j) = \frac{e_1^{k+j} - e_2^{k+j}}{e_1 - e_2} = S_{k+j-1}(e_1 + e_2), \text{ for all } k, j \in \mathbb{N}.$$

Definition 5. [3] Given a function f , the symmetrizing operator $\delta_{e_1 e_2}^{-k}$ is defined by

$$\delta_{e_1 e_2}^{-k} f(e_1) = \frac{e_2^k f(e_1) - e_1^k f(e_2)}{(e_1 e_2)^k (e_1 - e_2)}, \text{ for all } k \in \mathbb{N}.$$

Lemma 6. [3] Let $E = \{e_1, e_2\}$, we define the operator $\delta_{e_1 e_2}^{-k}$ as follows:

$$\delta_{e_1 e_2}^{-k} f(e_1) = \frac{-S_{k-1}(E)}{e_1^k e_2^k} f(e_1) + \frac{e_1^k}{e_1^k e_2^k} \partial_{e_1 e_2} f(e_1), \text{ for all } k \in \mathbb{N}.$$

In the next Theorem, we will combine all these results in a unified way such that all these obtained results can be treated as special case of the following Theorem.

Theorem 7. *Given an alphabet $E = \{e_1, e_2\}$, two sequences $\sum_{j=0}^{+\infty} a_j z^j$, $\sum_{j=0}^{+\infty} b_j z^j$ such that $\left(\sum_{j=0}^{+\infty} a_j z^j\right) \left(\sum_{j=0}^{+\infty} b_j z^j\right) = 1$, then*

$$\frac{\sum_{j=0}^{\infty} b_j \delta_{e_1 e_2}^k (e_1^j) z^j}{\left(\sum_{j=0}^{\infty} b_j e_1^j z^j\right) \left(\sum_{j=0}^{\infty} b_j e_2^j z^j\right)} = \sum_{j=0}^{k-1} a_j e_1^j e_2^j \delta_{e_1 e_2}^{k-j} (e_1) z^j - e_1^k e_2^k z^{k+1} \sum_{j=0}^{\infty} a_{j+k+1} \delta_{e_1 e_2}^j (e_1) z^j. \tag{1.3}$$

The paper is organized as follows. In Section 2 we give the proof of Theorem 7 and in Section 3 we give some applications for Theorem 7.

2. Proofs

In this section, we present a proof of Theorem 7.

On one hand, since $f(e_1) = \frac{1}{\sum_{j=0}^{\infty} b_j e_1^j z^j}$, we have

$$\begin{aligned} \partial_{e_1 e_2} f(e_1) &= \frac{1}{e_1 - e_2} \left(\frac{1}{\sum_{j=0}^{\infty} b_j e_1^j z^j} - \frac{1}{\sum_{j=0}^{\infty} b_j e_2^j z^j} \right) \\ &= \frac{\sum_{j=0}^{\infty} b_j e_2^j z^j - \sum_{j=0}^{\infty} b_j e_1^j z^j}{(e_1 - e_2) \left(\sum_{j=0}^{\infty} b_j e_1^j z^j\right) \left(\sum_{j=0}^{\infty} b_j e_2^j z^j\right)} \\ &= - \frac{\sum_{j=0}^{\infty} b_j \frac{e_1^j - e_2^j}{e_1 - e_2} z^j}{\left(\sum_{j=0}^{\infty} b_j e_1^j z^j\right) \left(\sum_{j=0}^{\infty} b_j e_2^j z^j\right)}. \end{aligned}$$

By Lemm 6, it follows that

$$\begin{aligned}
 & \frac{-S_{k-1}(E)}{e_1^k e_2^k} f(e_1) + \frac{e_1^k}{e_1^k e_2^k} \partial_{e_1 e_2} f(e_1) \\
 &= \frac{-S_{k-1}(E)}{e_1^k e_2^k} \frac{1}{\sum_{j=0}^{\infty} b_j e_1^j z^j} + \frac{e_1^k}{e_1^k e_2^k} \partial_{e_1 e_2} \frac{1}{\sum_{j=0}^{\infty} b_j e_1^j z^j} \\
 &= \frac{1}{e_1^k e_2^k} \left(\frac{-\sum_{j=0}^{\infty} b_j e_2^j S_{k-1}(E) z^j + \frac{e_1^k}{e_1 - e_2} \sum_{j=0}^{\infty} b_j (e_2^j - e_1^j) z^j}{\left(\sum_{j=0}^{\infty} b_j e_1^j z^j\right) \left(\sum_{j=0}^{\infty} b_j e_2^j z^j\right)} \right) \\
 &= \frac{-1}{e_1^k e_2^k} \left(\frac{\sum_{j=0}^{\infty} b_j \left(e_2^j \frac{e_1^k - e_2^k}{e_1 - e_2} + e_1^k \frac{e_1^j - e_2^j}{e_1 - e_2} \right) z^j}{\left(\sum_{j=0}^{\infty} b_j e_1^j z^j\right) \left(\sum_{j=0}^{\infty} b_j e_2^j z^j\right)} \right) \\
 &= \frac{-1}{e_1^k e_2^k} \left(\frac{\sum_{j=0}^{\infty} b_j \left(\frac{e_1^{k+j} - e_2^{k+j}}{e_1 - e_2} \right) z^j}{\left(\sum_{j=0}^{\infty} b_j e_1^j z^j\right) \left(\sum_{j=0}^{\infty} b_j e_2^j z^j\right)} \right) \\
 &= \frac{-1}{e_1^k e_2^k} \left(\frac{\sum_{j=0}^{\infty} b_j \delta_{e_1 e_2}^k (e_1^j) z^j}{\left(\sum_{j=0}^{\infty} b_j e_1^j z^j\right) \left(\sum_{j=0}^{\infty} b_j e_2^j z^j\right)} \right),
 \end{aligned}$$

which is the left hand side of (1.3).

On the other hand, since $f(e_1) = \sum_{j=0}^{\infty} a_j e_1^j z^j$, we have that

$$\begin{aligned}
 \delta_{e_1 e_2}^{-k} f(e_1) &= \delta_{e_1 e_2}^{-k} \left(\sum_{j=0}^{\infty} a_j e_1^j z^j \right) \\
 &= \frac{e_2^k \sum_{j=0}^{\infty} a_j e_1^j z^j - e_1^k \sum_{j=0}^{\infty} a_j e_2^j z^j}{e_1^k e_2^k (e_1 - e_2)}
 \end{aligned}$$

$$= \frac{1}{e_1^k e_2^k} \left(\sum_{j=0}^{\infty} a_j \frac{e_2^k e_1^j - e_1^k e_2^j}{e_1 - e_2} z^j \right).$$

Hence, we have that

$$\begin{aligned} \delta_{e_1 e_2}^{-k} f(e_1) &= \frac{1}{e_1^k e_2^k} \left(\sum_{j=0}^{k-1} a_j \frac{e_2^k e_1^j - e_1^k e_2^j}{e_1 - e_2} z^j + \sum_{j=k+1}^{\infty} a_j \frac{e_2^k e_1^j - e_1^k e_2^j}{e_1 - e_2} z^j \right) \\ &= \frac{-1}{e_1^k e_2^k} \left(\sum_{j=0}^{k-1} a_j e_1^j e_2^j \delta_{e_1 e_2}^{k-j}(e_1) z^j - e_1^k e_2^k z^{k+1} \sum_{j=0}^{\infty} a_{j+k+1} \delta_{e_1 e_2}^j(e_1) z^j \right). \end{aligned}$$

This completes the proof.

3. Applications

In this part, we derive the new generating functions of some known polynomials. Indeed, we consider Theorem7 in order to derive Fibonacci numbers, Pell-Lucas numbers and Tchebychev polynomials of second kind with $k = 1$, $k = 2$ and $k = 3$, for the case $\frac{1}{1-z} = \sum_{j=0}^{\infty} z^j$.

Corollary 8. *Given an alphabet $E = \{e_1, e_2\}$, we have*

$$\sum_{j=0}^{\infty} S_j(e_1 + e_2) z^j = \frac{1}{(1 - e_1 z)(1 - e_2 z)} \quad (\text{see [5]}). \tag{3.1}$$

Corollary 9. *Given an alphabet $E = \{e_1, e_2\}$, we have*

$$\sum_{j=0}^{\infty} S_{j+1}(e_1 + e_2) z^j = \frac{e_1 + e_2 - e_1 e_2 z}{(1 - e_1 z)(1 - e_2 z)} \quad (\text{see [4]}) \tag{3.2}$$

Corollary 10. *Given an alphabet $E = \{e_1, e_2\}$, we have*

$$\sum_{j=0}^{\infty} S_{j+2}(e_1 + e_2) z^j = \frac{(e_1 + e_2)^2 - e_1 e_2 - e_1 e_2 (e_1 + e_2) z}{(1 - z e_1)(1 - z e_2)}. \tag{3.3}$$

This case consists of two related parts. Firstly, replacing e_2 by $(-e_2)$ in (3.1), (3.2) and (3.3), we obtain

$$\sum_{j=0}^{\infty} S_j(e_1 + [-e_2])z^j = \frac{1}{1 - (e_1 - e_2)z - e_1e_2z^2}, \tag{3.4}$$

$$\sum_{j=0}^{\infty} S_{j+1}(e_1 + [-e_2])z^j = \frac{e_1 - e_2 + e_1e_2z}{1 - (e_1 - e_2)z - e_1e_2z^2}, \tag{3.5}$$

$$\sum_{j=0}^{\infty} S_{j+2}(e_1 + [-e_2])z^j = \frac{(e_1 - e_2)^2 + e_1e_2 + e_1e_2(e_1 - e_2)z}{1 - (e_1 - e_2)z - e_1e_2z^2}. \tag{3.6}$$

Choosing e_1 and e_2 such that $\begin{cases} e_1e_2 = 1, \\ e_1 - e_2 = 1, \end{cases}$ and substituting in (3.4), (3.5) and (3.6) we get

$$\sum_{j=0}^{\infty} S_j(e_1 + [-e_2])z^j = \sum_{j=0}^{\infty} F_j z^j = \frac{1}{1 - z - z^2}, \tag{3.7}$$

$$\sum_{j=0}^{\infty} S_{j+1}(e_1 + [-e_2])z^j = (1 + z) \sum_{j=0}^{\infty} F_j z^j = \frac{1 + z}{1 - z - z^2}, \tag{3.8}$$

$$\sum_{j=0}^{\infty} S_{j+2}(e_1 + [-e_2])z^j = (2 + z) \sum_{j=0}^{\infty} F_j z^j = \frac{2 + z}{1 - z - z^2}, \tag{3.9}$$

which is given by Boussayoud et al. [2, 4]. Formula (3.9) represents a new generating function.

Corollary 11. *For all $j \in \mathbb{N}$ we have*

$$\begin{aligned} S_{j+1}(e_1 + [-e_2]) &= (1 + z)S_j(e_1 + [-e_2]), \\ S_{j+2}(e_1 + [-e_2]) &= (2 + z)S_j(e_1 + [-e_2]). \end{aligned}$$

Choosing e_1 and e_2 such that $\begin{cases} e_1e_2 = 1, \\ e_1 - e_2 = 2, \end{cases}$ and substituting in (3.4), (3.5) and (3.6) we obtain three new generating functions given by

$$\sum_{j=0}^{\infty} S_j(e_1 + [-e_2])z^j = \frac{1}{1 - 2z - z^2}, \tag{3.10}$$

$$\sum_{j=0}^{\infty} S_{j+1}(e_1 + [-e_2])z^j = \frac{2 + z}{1 - 2z - z^2}, \tag{3.11}$$

$$\sum_{j=0}^{\infty} S_{j+2}(e_1 + [-e_2]) z^j = \frac{5 + 2z}{1 - 2z - z^2}. \tag{3.12}$$

Multiplying the equation (3.7) by (3) and subtract it from (3.8) we obtain

$$\sum_{j=0}^{\infty} (3S_j(e_1 + [-e_2]) - S_{j+1}(e_1 + [-e_2])) z^j = \sum_{j=0}^{\infty} L_j z^j = \frac{2 - z}{1 - z - z^2},$$

which represents a generating function for Lucas numbers [13].

Corollary 12. *For all $j \in \mathbb{N}$, we have*

$$L_j = 3S_j(e_1 + [-e_2]) - S_{j+1}(e_1 + [-e_2]), \text{ with } e_1 = \frac{1 + \sqrt{5}}{2}, e_2 = \frac{1 + \sqrt{5}}{2}$$

Multiplying the equation (3.10) by (-2) and added to (3.11) we obtain

$$\sum_{j=0}^{\infty} (S_{j+1}(e_1 + [-e_2]) - 2S_j(e_1 + [-e_2])) z^j = \frac{z}{1 - 2z - z^2},$$

which represents a generating function for Pell numbers [13].

Corollary 13. *For all $j \in \mathbb{N}$, we have*

$$P_j = S_{j+1}(e_1 + [-e_2]) - 2S_j(e_1 + [-e_2]), \text{ with } e_1 = 1 + \sqrt{2}, e_2 = 1 - \sqrt{2}$$

Multiplying the equation (3.10) by 6 and added to (3.11) by (-2), we obtain

$$\sum_{j=0}^{\infty} (6S_j(e_1 + [-e_2]) - 2S_{j+1}(e_1 + [-e_2])) z^j = \frac{2 - 2z}{1 - 2z - z^2},$$

which represents a generating function for Pell-Lucas numbers [12].

Corollary 14. *For all $j \in \mathbb{N}$, we have*

$$Q_j = 6S_j(e_1 + [-e_2]) - 2S_{j+1}(e_1 + [-e_2]), \text{ with } e_1 = 1 + \sqrt{2}, e_2 = 1 - \sqrt{2}$$

Finally, replacing e_1 by $2e_1$ and e_2 by $(-2e_2)$ in (3.4), (3.5) and (3.6), under the condition $4e_1e_2 = -1$, we obtain, for $x = e_1 - e_2$ the following

$$\sum_{j=0}^{\infty} S_j(2e_1 + [-2e_2]) z^j = \frac{1}{1 - 2xz + z^2}, \text{ such that } U_j(x) = S_j(2e_1 + [-2e_2]).$$

$$\sum_{j=0}^{+\infty} S_{j+1}(2e_1 + [-2e_2])z^j = \frac{2x - z}{1 - 2xz + z^2}, \quad (3.12)$$

which represents a generating function [4] such that

$$S_{j+1}(2e_1 + [-2e_2]) = (2x - z)U_j(e_1 - e_2),$$

$$\sum_{j=0}^{\infty} S_{j+2}(e_1 + [-e_2])z^j = \frac{4x^2 - 1 - 2xz}{1 - 2xz + z^2}, \quad (3.13)$$

which represents a new generating function.

Moreover, from (3.12) and (3.13) we deduce that

$$\sum_{j=0}^{+\infty} [S_{j+1}(2e_1 + [-2e_2]) - xS_j(2e_1 + [-2e_2])]z^j = \frac{x - z}{1 - 2xz + z^2}, \quad (3.14)$$

$$\sum_{j=0}^{+\infty} [S_{j+2}(2e_1 + [-2e_2]) - xS_{j+1}(2e_1 + [-2e_2])]z^j = \frac{3x^2 - 1 - xz}{1 - 2xz + z^2}, \quad (3.15)$$

which represent two new generating functions.

Acknowledgments

The authors would like to thank the anonymous referees for his valuable comments and suggestions.

References

- [1] A. Abderrezzak, Généralisation de la transformation d'Euler d'une série formelle, *Adv. Math.* 103 (1994), 180–195.
- [2] A. Boussayoud, A. Abderrezzak, M. Kerada, Some applications of symmetric functions, *Integers*. 15A#48 (2015), 1-7.
- [3] A. Boussayoud, R. Sahali, The application of the operator $L_{b_1 b_2}^{-k}$ in the series $\sum_{j=0}^{+\infty} a_j b_1^j z^j$, *J. Adv. Res. Appl. Math.* 7 (2015) 68–75.
- [4] A. Boussayoud, M. Kerada, R. Sahali, Symmetrizing Operations on Some Orthogonal Polynomials, *Int. Electron. J. Pure Appl. Math.* 9 (2015), 191-199.
- [5] A. Boussayoud, M. Kerada, A. Abderrezzak, A Generalization of some orthogonal polynomials. *Springer Proc Math Stat.* 41 (2013), 229-235.
- [6] A.F Horadam, Basic properties of a certain generalized sequence of numbers, *Fibonacci Q.* 3 (1965), 161–176.

- [7] A.F Horadam, Generating functions for powers of a certain generalized sequence of numbers, *Duke Math. J.* 32 (1965), 437–446.
- [8] A.F. Horadam, J.M. Mahon, Pell and Pell-Lucas Polynomials, *The Fibonacci Quarterly* 23:1 (1985), 7–20.
- [9] A. Lascoux, A.M. Fua, Partition analysis and symmetrizing operators. *J Comb Theory A.* 109 (2005), 339-343.
- [10] C. Bolat, H Kose, On the Properties of k-Fibonacci Numbers, *Int. J. Contemp. Math. Sciences.* 5 (2010), 1097-1105.
- [11] I.G. Macdonald, *Symmetric functions and Hall polynomials*, *Oxford University Press*, (1979).
- [12] S. Falcon, On the k-Lucas numbers, *Int. J. Contemp. Math. Sci.* 21 (2011), 1039–1050.
- [13] T. Mansour. A formula for the generating functions of powers of Horadam's sequence, *Australas. J. Comb.* 30, (2004), 207–212.

